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Exam 4, Spring 2014



       



 YOUR NAME:______________________


Instructions: Please answer all of the following multiple choice items on the provided scantron sheet. Each is worth 2 points. No credit will be given for answers made on the test itself. Be sure to bubble your answers in completely, and double-check that you are answering each question in the correct row. You may write on this test copy, but it must be turned in with your scantron sheet at the end of the test. GOOD LUCK!


1. The purpose of a(n) _____ group is to help the organization accomplish its goals, whereas the purpose of a(n) _____ is getting together in friendship. 
A. organizational; individual
B. formal; informal
C. maintenance; task
D. task; maintenance
E. high-ability; low-ability

2. Which of the following is an example of an organizational function of a formal group? 
A. Reduce anxieties and feelings of insecurity.
B. Satisfy the individual's need for affiliation.
C. Socialize and train newcomers.
D. Give individuals an opportunity to test and share their perceptions of social reality.
E. Provide a problem-solving mechanism for interpersonal problems.

3. _____ is defined as the "we feeling" that binds members of a group together. 
A. The Asch effect
B. Social loafing
C. Groupthink
D. Role conflict
E. Cohesiveness
4. Which of the following is true regarding conformity and the Asch effect? 
A. Conformity, as demonstrated in the Asch effect, facilitates functional conflict.
B. Individualistic countries produced higher levels of conformity than collectivist countries.
C. The Asch effect is unique to the US, and has not been replicated in other countries.
D. There has been a decline in conformity among Americans since the 1950s.
E. There has been an increase in conformity among Americans since the 1950s.
5.  _____ occurs when an individual's judgment is distorted by the unanimous but incorrect opposition of a noncohesive group. 
A. The Asch effect
B. Role overload
C. Role conflict
D. Groupthink
E. Social loafing

6. According to research on groupthink, ___. 
A. highly cohesive groups have moderate levels of confidence in their decisions
B. highly cohesive groups produce better decisions than moderate-cohesive groups
C. moderately cohesive groups produce better decisions than high-cohesive groups
D. highly cohesive groups produce better decisions than low-cohesive groups
E. low-cohesive groups produce better decisions than moderate-cohesive groups

7. One way to prevent groupthink is to ___. 
A. assign only challenging and important tasks
B. assign members of the group the role of critical evaluator
C. hold each member personally accountable for identifiable portions of the task
D. use the stepladder technique
E. encourage group cohesiveness

8. The stepladder technique is a way to prevent ___. 
A. the Asch effect
B. role overload
C. role conflict
D. groupthink
E. social loafing

9. Don is a member of the Compensation Advisory Council. The Advisory Council contains 10 members from a variety of areas across the university. It is charged with providing recommendations to the Human Resources Board regarding suggested compensation systems for a particular class of employees (Associate and Professional) at a large university. The responsibility of selecting from among the suggested alternatives and ultimately implementing the new compensation plan rests with the President's Council and the Human Resources Board (not with the Compensation Advisory Council). However, at any point the President's Council and Human Resources Board are free to proceed without the input of the Compensation Advisory Council. Don is a member of a _____ team. 
A. project
B. advice
C. production
D. functional
E. action

10. Ann is the anesthesiologist on an operating room surgical team. Ann and other members of the surgical team have trained years to master the skills necessary for their jobs. Her role on the team consists of carefully balancing the needs of the surgeons and the patient. Too little anesthesia and the surgeons can't do their job, too much and the patient dies. The success of the operation depends, in part, on the appropriate administration of the proper amount of anesthesia. Ann is a member of a(n) _____ team. 
A. project
B. advice
C. production
D. functional
E. action

11. Action teams tend to have a _____ degree of technical specialization and a _____ degree of coordination with other work units. 
A. low; low
B. low; high
C. moderate; moderate
D. high; low
E. high; high

12.  _____ reflects team member satisfaction and continued willingness to contribute to the team. 
A. Self-management leadership
B. Team performance
C. Team viability
D. A cognitive leap
E. Propensity to trust

13. Team performance and team viability are the two criteria used to measure ____. 
A. propensity to trust
B. socio-emotional cohesiveness
C. instrumental cohesiveness
D. self-management leadership
E. team effectiveness

14. Which of the following is a typical mistake made by management that leads to team failure? 
A. Personality conflicts among team members.
B. Vague or conflicting team assignments.
C. Poor interpersonal skills.
D. Resistance to doing things differently.
E. The team tries to do too much too soon.

15. Nancy, Jack, Jim, Kristine, and Laura all work for different organizations. They get together once a week for lunch. Together they discuss work, kids, and almost everything else. What holds this group together? 
A. Organizational culture.
B. Managerial directives.
C. Instrumental cohesiveness.
D. Socio-emotional cohesiveness.
E. Self-management KSAs.

16.  _____ is a sense of togetherness that develops when group members are mutually dependent on one another because they believe they could not achieve the group's goals by acting separately. 
A. Reciprocity
B. Instrumental cohesiveness
C. Propensity to trust
D. Self-management leadership
E. Socio-emotional cohesiveness

17. One way managers can enhance socio-emotional cohesiveness is by _____. 
A. regularly updating and clarifying the group's goals
B. giving every member a vital "piece of the action"
C. keeping the group relatively small
D. channeling each member's special talents toward the common goal
E. equitably reinforcing every member's contributions
18. One way managers can enhance instrumental cohesiveness is by ____. 
A. regularly updating and clarifying the group's goals
B. emphasizing members' common characteristics
C. keeping the group relatively small
D. encourage interaction and cooperation
E. building a favorable public image of the group
19. Which of the following is true with regard to conflict? 
A. Today's OB experts believe that conflict threatens managerial authority and should be avoided.
B. Scientific management experts such as F.W. Taylor believed that organizations can suffer from too little conflict.
C. Current OB experts believe that conflict has both positive and negative outcomes, depending on its nature and intensity.
D. Excessive conflict can lead to apathy and indecision.
E. Insufficient conflict can lead to optimal organizational performance.

20. _____ conflict encourages different opinions regardless of the personal feelings of those involved. 
A. Dysfunctional
B. Programmed
C. Individual-organizational value
D. Intrapersonal value
E. Interpersonal value

21. Functional conflict ____. 
A. is decreased by the devil's advocacy technique
B. is decreased by the dialectic method
C. serves the interests of the organization
D. is a method of alternative dispute resolution
E. threatens the organization's interests

22. Too much within-group cohesiveness can lead to intergroup conflict. 

A. True
B. False

23. Which of the following is true? 
A. Organizational conflict is inevitable.
B. Greater employee diversity leads to decreased organizational conflict.
C. Greater amounts of face-to-face communication lead to increased organizational conflict.
D. Increased cross-cultural interactions lead to decreasing amounts of organizational conflict.
E. Conflict is to be avoided whenever possible.
24. Devil's advocacy is an example of programmed conflict. 

A. True
B. False

25. The strength of the _____ conflict-handling style is its longer lasting impact because it deals with the underlying problem rather than merely with symptoms. Its primary weakness is that it is very time consuming. 
A. integrating
B. obliging
C. dominating
D. avoiding
E. compromising

26. The primary strength of the _____ conflict-handling style is that it encourages cooperation. Its main weakness is that it's a temporary fix that fails to confront the underlying problem. 
A. integrating
B. obliging
C. dominating
D. avoiding
E. compromising
27. In the _____ style of handling conflict, the individual uses either passive withdrawal from the problem or active suppression of the issue. This style is appropriate for trivial issues, but not for difficult problems. 
A. integrating
B. obliging
C. dominating
D. avoiding
E. compromising

28. Alternative dispute resolution techniques are strategies designed to avoid costly lawsuits by resolving conflicts informally or through mediation or arbitration. 
A. True
B. False

29.  _____ is an alternative dispute resolution technique where a trained, neutral third party actively guides the disputing parties in exploring innovative solutions to the conflict. This third party does not render a decision. It is up to the disputants to reach a mutually acceptable decision. 
A. Ombudsman
B. Peer review
C. Conciliation
D. Mediation
E. Arbitration
30.  _____ is an alternative dispute resolution technique where the disputing parties agree ahead of time to accept the decision of a neutral third party in a formal court-like setting, often complete with evidence and witnesses. Participation is voluntary, and statements are confidential. Decisions are based on legal merits. 
A. Ombudsman
B. Peer review
C. Conciliation
D. Mediation
E. Arbitration

31. According to the perceptual model of communication, speech impairments, poor telephone connections, and illegible handwriting are examples of ____. 
A. decoding
B. interference
C. miscommunication
D. static
E. noise

32. Which of the following is not a formal channel of communication? 
A. Vertical communication
B. Upward communication
C. Horizontal communication
D. External communication
E. Management by walking around
33. _____ is the exchange of information from subordinates to managers. 
A. Upward communication
B. The grapevine
C. Downward communication
D. A liaison
E. Linguistic style

34. Horizontal communication involves the flow of information between employees inside the organization and a variety of stakeholders outside of the organization. 
A. True
B. False

35. According to the contingency model for selecting media, which of the following choices falls into the overload zone? 
A. The Impersonal Static medium for a high-complexity problem.
B. The face-to-face medium for a high-complexity problem.
C. The Interactive media for a low-complexity problem.
D. The Impersonal Static medium for a low-complexity problem.
E. The Personal Static medium for a high-complexity problem.

36. As a result of a recent merger with another organization, a portion of the combined workforce will be laid off. As director of Human Resources, it's your job to communicate this difficult news to the affected employees. Although the organization is offering a substantial severance package, this news will be hard to deliver since it greatly impacts the lives of those being discharged. Your goal is to convey this information so that it causes the least amount of harm possible to employees' self-esteem while, if possible, maintaining a positive image of the organization. Which is the most appropriate communication medium to use in this situation? 
A. Face to face
B. Telephone
C. Interactive media
D. Personal Static media
E. Impersonal Static media

37. According to the contingency model for selecting media, which of the following choices falls into the overload zone? 
A. The formal written medium for a high-complexity problem.
B. The face-to-face medium for a high-complexity problem.
C. The telephone medium for a low-complexity problem.
D. The formal numeric medium for a low-complexity problem.
E. The personal written medium for a high-complexity problem.
38. It is important for all of us to understand how information technology is affecting the way individuals communicate because the technology influences organizational behavior. 
A. True
B. False

39. _____ is a work practice in which an employee does part of his or her job in a remote location using a variety of information technologies. One of the biggest potential drawbacks to this work practice is___________:
A. Electronic mail; Turnover
B. Videoconferencing; Costs to the organization
C. Collaborative computing; Rehire time
D. Telecommuting; Lack of promotions    
E. Extranet; Lack of productivity

40. Telecommuting offers increased flexibility and autonomy for workers but it increases the capital costs for employers. 
A. True
B. False

41. Which of the following is the correct evolutionary sequence of leadership theories? 
A. Behavioral, contingency, transformational.
B. Transformational, behavioral, situational.
C. Situational, trait, behavioral.
D. Behavioral, situational, trait.
E. Trait, situational, behavioral.
42. What is not a takeaway message from trait theory? 
A. Traits have no effect on how we perceive leaders.
B. Organizations may want to include personality and trait assessments into their selection and promotion process.
C. Management development programs can be used to enhance employees' leadership traits.
D. Intelligence is a positive leadership trait.
E. Corruption is a negative leadership trait.

43. Initiating structure involves leader behavior associated with ____. 
A. creating mutual trust and respect
B. communicating vision
C. building employees' self-esteem and self-efficacy
D. participative management and employee empowerment
E. organizing and defining what followers should be doing

44. Consideration involves leader behavior associated with ____. 
A. creating mutual trust and respect
B. communicating vision
C. building employees' self-esteem and self-efficacy
D. participative management and employee empowerment
E. organizing and defining what followers should be doing

45. According to the _____ approach to leadership, leaders produce organizational change and results because they transform employees to pursue organizational goals over self-interests. 
A. trait
B. contingency
C. path-goal
D. leader-member exchange
E. transformational

46. Two underlying characteristics of _____ leadership are (1) leaders focus on clarifying employees' role and task requirements and (2) leaders provide followers with positive and negative rewards contingent on performance. 
A. transformational
B. trait
C. in-group
D. transactional
E. out-group

47. Transformational leaders transform followers by creating changes in their ____. 
A. goals, beliefs, and aspiration
B. personal appearance
C. hygiene
D. education
E. organizational commitment

48. Which of the following is a characteristic of leaders? 
A. Administering
B. Maintaining.
C. Inspiring.
D. Controlling.
E. Taking a short-term view.

49. Contemporary trait research suggests that leaders possess which of the following traits? 
A. Determination.
B. Honesty.
C. Self-confidence.
D. Intelligence.
E. All of the above.

50. According to _____ leaders have one dominant leadership style that is resistant to change - either task motivated or relationship motivated. 
A. Graen's leader-member exchange model
B. Hersey and Blanchard's situational leadership theory
C. House's path-goal theory
D. Fiedler's contingency model
E. Stogdill's trait theory
